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I The /m(? A, Aézrfﬂf o weight of EX, is releases( from vest al the
/Dosffwn 8= 0°, as Show in /C// /. It J‘er,'/fe; an /"0’%5!&/5
When §= 70" If Z%c coefficient of Frestituts on betireen the A[%

and box is €=0.% , determine The vefocilies of the bag and box
just after /mffchL. ' >
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a2, f/kc: Slender ool AB Shourn in /C/;f.Z has a conslanl Cross Seclion amo(

mass of /0kp. AS a result of the rolation of Crank C , reol AB osc;//ates
n A Veki‘:’cft[ p/mze, In the /005/'{7‘071 'Séaurn, e Anjﬁ/zck Vc/oc/f/ w of rool AB
is /0 )’M(/s Clockwse &mp{{ ;my( /13 A"ﬂfﬂ/ﬁ accelerntion ot s XNy, )"W{/;"’
counterclockurise . Detormime the Force exerted /7)/ the [ink belyreer, the yool
andl the craak, Also, determine The force Uﬁrﬁ&(- o7 Wﬂ( /)5 A)/ the /J/.”L

at support A, 2 6%
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3, Crank AB has a constant angufay lfe/ociZL} of 12 15 Clockwise.

Determine the Anﬁu)&pl/‘e/ﬂ(fy of )”M( ED pmy( the Ve/ac/zél/ a>C CO//mrD
M{‘hen @) 67:0) (b) g= 70"’ (©) = /.a’o"'_ | > Y
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4 A space ' fﬂﬁf (FERE) describes a Circular  orbil of G000/ peacdins Aroun

the earth. In ordev fo {'mmfer itto a /4)7er cirenlar orbit of 24, 000=21/

;/M(,‘L(S) the ﬁ‘j{ is f;mf P/ﬁﬁeﬂ( on an ff///'/?f’fc /741% AB é;)/ f/‘r/b% it engine

o5 It passes through A, Thus increasing its velocily by 38/0myf, . By

how much should “the tug’s Velocrly be mcreased as it reaghes B #

insert it into the /m7a- Cireula- obil ?
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3 POEL$IE R=3fbomile , [mile=S28508
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